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Letp{y) = 4?} + 5. If y = 4, then what is the value of p{y)?

A.9
B.7
C.13
D.37

Answer: C

Explanation:
The equation describes a functional relationship between y and p(y). To solve the equation,
substitute 4 as the value of y, such that

p@) =24+ 5=245=8+5=13.

Z

Therefore, choice C is correct.

What is the solution to (3x* + 4x — 1) + (2x* — 7x — 37

A Sxi4+3xr—4
B. 5x*—3x—4
C. 5xT—3x+25
D. Bxf—11x+2

Answer: B

Explanation:

When adding these polynomials, the parentheses can simply be removed, which results in
3x% +4x — 14 2x* — Tx — 3. Collecting like terms vields 5x% — 3x — 4. Therefore. choice B is
correct.

What is the solution to (5x" — 2x —2) — (3x° + 4x — 1)?

A 2xf—pBr—1
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B. 2x*—6Bx—13
C. 2x*+2x—-3
D. 8x?—6x—1

Answer: A

Explanation:

When subtracting polynomials, the parentheses around the first pelynomial can simply be
removed. When removing the parentheses around the second polynomial the sign of each term
must be switched. This results in 5x% — 2x — 2 — 3x% — 4x + 1. Collecting like terms vields 2x? —
6x — 1. Therefore, choice A is correct.

Which of the following is equivalent to 3(2x% —x — 4)?

A Bx*—3x+7
B. bx?—3x +12
C. 5x*—=3x-7
D, 6x*—3x—12

Answer: D

Explanation:
Applying the distributive property resultsin 3 - 2x%-3 - ¥~ 3 - 4. This expression can be
simplified to 6x%- 3x— 12. Therefore, choice D is correct.

Multiply: (3x — 1)({2x + 5).

CBxt+Tx+5

fx +13x+5
pxt—18x—5
CEx*+13x -5

OO0 w>

Answer: D

Explanation:

Multiply each term in one set of parentheses by each term in the other set: (3x)(2x) +
(3x0(5) + (=10 2x) + (—1)(5) = 6x* 4+ 15x — 2x — 5. Then combine like terms: 6x* + 13x — 5.
Therefore, choice D is correct.
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Which of the following binomials can be rewritten as a difference of squares with rational coefficients?

A 4xF—20
B, 9x%— 25
c 6x2—100
D, 4x7+25

Answer: B

Explanation:

A difference of squares factors to a sum and a difference. For example, a® — b® factorsto {a +
b)(a — b). The binomial 9x% — 25 can be rewritten as (3x)2 — (5)2. Then (3x)% — (5)° can be
factored to (3x + 5)(3x — 5. Therefore, choice B is correct.

Which of the following is equivalent to 2./4%?

A4
B.8
C. 32
D. 16

Answer: C

Explanation:

— b z
The radical 2+ 4+ can be written as 2 - 42 which isequalto 2 - 4* or 2 + 16 or 32. Therefore,
choice C is correct.

Which of the following is equivalent to (2x%y)(4x%y*)?

A. 6x%y*
g 8xy
c. Bx1sy?
D, 6xify?

Answer: B

Explanation:
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When multiplving expressions with exponents, the exponents of the like bazes are added. The
coefficients of the expressions are multiplied. For the problem (2x2y)(4x3y®). the product is
8x%y*. Therefore, choice B is correct.

What is the 7th term of this geometric sequence?
-1,2,-4,8....

. 64

o0 >
FRTAINR
(o))

Answer: D

Explanation:

Consecufive terms in a geometric sequence have a common ratio. The common ratio of this
sequence is —2. The next three terms are -16, 32, and —64. The 7% term is —64. Therefore, choice D
is correct.

Which of these graph descriptions fits a relation that is a function?

A. A vertical line

B. A parabola that opens to the right
C. A horizontal line

D. A circle

Answer: C

Explanation:

A function is a relation that has only one output for each input or only one y-value for each x-
value. A vertical line drawn anywhere over the graph of a function will intersect the function at one
point at most. Of the given choices, only a horizontal line fits this description. Each x-value of a
horizontal line has only only-value. Therefore, choice Cis correct.
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